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Wrapping a loop
[S

"Controls is about compromise
II

around the system Sensors ( + readouts) have noise and

sometimes have frequency response
"

"Actuators ( + drivers have noise and

sometimes have a frequency response + can saturate
"

"Creating a sensor/actuator array = $$$"
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· How design 1 ? *

· How does Fresidual compare to FansActuator A
· Is it stable ? 2 Sensor
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Fres = Fand + Fearl
↳ Fri = Very A

↳ Vari = VeK
↳ Ve = XeC

↳ Xe = Fres P
Fres = Fang+Fres(PCKA)

· Fres = 11 y Fond I
G = PCKA = Open Loop Gain

it = Loop Suppression



Stability Fres = ! a Fond Note : Ge K

When IG1 = 1
,
LG CANNOT be 0 ! unstable

Xew=P Loop Suppressed Paa

F= closed Loop na

Pendulum Scenario

Goal : To = 0
. 1 (faterto

Assume G= P . K
#f

k = - in

UGF= unity gain freg.·
1

Lower UGF =

"

rising into 161 = 1"
I

Upper UGF = "falling into 161 =/


